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2 . 5 ,  2 . 6 , 3 . 1 , 3 . 2

25 points SECTION Fn2/17/06

I. The cost ofwheat, in dollars per ton, t days after the harvest, isgivenby W1(t)
What is the meaning of the derivative p'(t)? fhat are its units?
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2' Find the derivative of the given fun$ons using the definition of derivative. State the
domain of the function and the domain of the derivative.
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4. Ifthe tangent line to y: f(x) at (-1,4) passes through the point (3,-2),
f ind (-t): U and f '(-1)= 3/---T-- -7tt-
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b) Find the instantaneous velocitv ofthe ball at 1 sec.. usins the definition of derivative
to find the slope.
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c) Explain why the answers vary by so much.

6. Use the definition of a derivative to find the slope ofthe tangent line and use it to
find an equation ofthe tangent line to the curve at the given point
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5. The position function of a particle after time t seconds is given by s(t) : - t2 -4t +10.
a) Find the average velocity of the particle from t : 0 to t zfs€Qonds.
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